3 0
(Ripple)

Full-wave Rectifier &

3-Phase Rectifier
AC— DC (Center-tapped transformer rectifier)

(Bridge Rectifier)
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1000W M lOOOW

DC 100 V [, — —
10A - -

1 (Primary) V P Vs 2 (Secondary)

AC 100 V : AC 1000 V

10A 1A
10 TURNS 100 TURNS

L3 H
Power Electronics

"R

1 pro+r
Vi,:?j.m v(t) dt

| ¢~ :
= _j V. sinwtd(wt)
;r 0

sin dt = —cost
= —n[-cosar]

L — (—cos 7 +cos0)
~

W
""l m

T

S“BU Power Electronics

A
¥ [T

m Faraday’s Law( )
d¢ : -
emf = ——— emf: electromotive force

/ dt

Lentz’s Law

-~ H
Power Electronics

'R
Vi :Jl I (v, sin a)f) d(wt)
4

( L 1—0032(0{]
SN Wf =———

Frg
a)f sin 7(0!}

[
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m Parameter
v R=10 2
v L=10 mH
v =60 Hz
v V=100 V
v Transient Step
=0 50 ms
= Find
2 P AN

avg ''rms

i i
ST R+ jno L

n

L3 H a3 A
Power Electronics Power Electronics
Sau

I = Parameter
’;:M 1. v R=2 0
§ y - | v L=10 mH
0 1004 W o v f=60 Hz
L v V=100 V
i 100-50 _s04 S . ko =80V
| v Transient Step
=0 50 ms
0 m Find
v Pl

1 ravg 'trms

;100100 _
1

S“BU Power Electronics S“au Power Electronics




10V
5V

101 — 5V

L 2
Y .
Power Electronics

- R-C

(Firing Angle)

for wt=a
(xta=0)
V sin(x+a)=(¥,sinf@)e X

]

(Numerical Analysis)

S“BU Power Electronics

Xeto| 10VO|AM 5V
2 = 0 HjAlEl2)
Xeto] 10VO|AM 5V

ME| FOt

—

Foll 7t

—

Vo(or) =J

l

v,

(-

Y .
Power Electronics

S D1
Dbreak

S D2
Dbreak

S“au Power Electronics

V sin @t at diode on

m
(ewi—8)

(V. sin@)e “k  at diode off

=V sinf, 6=tan"'(-R-wC)

m Parameter
v R=10 2
,_ v L=5mH
o v C=1000 uF
v f=60 Hz
v V=100 V
v Transient Step
=050 ms
= Find
vV

ho03
Ohreak

ho 04
Dbreak




l t0+T
Vv, :?L V(1) dt

Lieel .
Vo= ;L V. sinotd(wt)

Jsin dt = —cost

7’”[~ cosar [}

V
:i(l+cosa)
& { JZ'

Power Electronics

a3 .
Power Electronics

I = : > Parameter
Ji= —j (v, sinwt ) d(or) .

;r o / R:lo Q
J v L=100 mH

2

2 4

v a=60

- TD1:0.0028(1/360)
o o] - TD2:0.011(4/360)
T siy/.?;r _a  sin 2&’} v V,,=169.7 V50V
2 4 2 4 v Transient Step
a sin(2a) =050 ms

+ .

A m Find: i, i

E | =60 Hz
[(w sin 2(9,'}'T ' "

avg ! P
N .
sau Power Electronics
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v, =~/2V sin ot

Y= J2v sin[(u! ~2TE]

Ve = J2r sin[a)! - 477?]

Vg =2V 005(30” )430”
V3

3
=2v,~——£30°
)
o8 = 3v,£30°

L3 H a3 A
Power Electronics Power Electronics

4.4 3 - Fourier

V)=V, + .V, cos(nmyt +1)

n=6,12,18

[ e : V..
SV, sine td(o t)= &[_ cosm t

Vo=—=\
713 /3
V o) .[/
@ :&.{_mgimgﬁ}:&{_[_

s /3 3 3 /3

= 31’:”_1 L = O_QSL’

m, L1
T

v, =17 n=6,12,18
m(n —1)
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4-12 3
. (a)

il R=250hm
2.3 A

)

® L=50mH
A

L3 H a3 A
Power Electronics Power Electronics

(2) : Pspice Simulation

R=250hm

L=50mH

S=3, I, m Parameter

= /3(480)21.2) v R=100 k2 L=50mH  f=60 Hz
vV, = Y20480) . Step=0:0.1 ms:50 ms

=
3

=17.6 KVA = Find:V, "avg\..;{

rms
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4.5.2 3

ol d

il srms 3 i .
ya= = -[:. V., . sinotd(wr)

Vm =1 2IT+"’
= [— Cos @ r];
zl3 37

Koot % ( 27 ] (ﬂ J} 27 T
=——©—C0§| —+a |+ CO5| —F+ O COS—=—C0S—
PR 3 3 3 3

"'m_;.: | T T cos(x + ) = cos xcos y—sin xsin y
=———+C0S ?—(I + COS ?+(1 2 2 2

/3 cos(x— y) =cos xcos y+sinxsin y

I":,.,_._‘r =T T Ab T A
= —9C0S8 ?C(}S(I +Sin gsm o + COS ?COS a —Ssin 351“ o

7/3

3V T 014
- m,L=I - m
=27 Jcos—cosay =—"L cosa
T 3 T

L3 H a3 A
Power Electronics Power Electronics

4.5.2 3 2)

umsant
=S NSNS, 0T
RO 91220m{RIM) M2
Mol maFA 14

I

o bd k14
4 i 3 Vsinwtd(wt) =—+cosa
/395 T

m 12 Pulse

525km 20| #|O|E

Vu = Vm_, + V(:;\ = %COSCZ 2 a i vg Hol B
T 8

m 12 Pulse s |0 24 toom)

HE-HZ
4J§ ] HH axME
. - . i 'Y o
()=, ()+i,(1) = (cosawt ——cosllw,t+....) “Im 20/2 GRS 114 Aol LA
- 0 11 0 A Sel2xo0| He *E32ER Y
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